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Please check whether you have got the right questlon paper.
N.B: 1. Question.No.1is Compulsory.
2. Attempt any three from reaming five questions.

Q.1a) Explain ambiguity in multiple inheritance with suitable program.

b) Write a C++ program to create a class with two member variables and member functions. Add
constructors to demonstrate call by value and call by reference. Create an array of objects and caII
member functions on each object. -

Q.2 a) Explain use of try, catch and throw keyword with a suitable example.

b) What are rules for use of static? Write a program to demonstrate use of static keyWord.

7™ Q.3a) What is used of friend function? With suitable program demonstrate frlend as a bridge to access private
4 variables of two classes.

b) Write a program to overload >> and << operator.
Q.4 a) Explain use of function template and class template with suitable program. .
b) What are pitfalls of ope.rator overloading.
~  Q.5a) Write astepsto démbns;crate the détabase connectivity tb_mysdl database.
b) What is polymofphism? Write a progfam to demonstrate how it is achieved at run time.

Q.6 a) Differentiate between 7,
g 1 ) Constructors and destructor

2) New and delete

\ b) erte a short note on

1) STL

2) _Na'mespacés. j
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N.B.: 1) Question No.l is compulsory. "
2) Attempt any Three from the remaining five questlons
3) Figures to the right indicate full marks.
Ql. (a) Write an SRS for an Attendance management system. T [10]
(b) A project size of 200 KLOC is to be developed Soﬁware [10]
development team has average experience on similar type of projects.
The project schedule is not very tight. Calculate the -effort,
development time, average staff size and productivity of the project
Q2. (a) Explain three “R” in software engineering and with project [10]
management framework .
(b) Explain RAD and Agile model in software engineering [10]
Q3. (a) Explain different requirement elicitation techniques [10]
(b) Explain feasibility study and its types [10]
Q4. (a) What is Business case? Explain with an example [10]
(b) Discuss various types of outsourcing relationships [10]
Q5. (a) Explain the process of acquiring the project team [10]
(b) Explain the SEI Capability Maturity Model- [10]
Q6. Short Note (any 4 out of 5) (20]
(a) - Degree of Rigor
(b) Risk management
-+ (c) McCall’s Quality model
~.(d) Fishbone diagram.
(¢) Change management
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N.B.: 1) Question No.I is compulsory.

Q. P. Code : 03674
Total Marks : 80

2) Attempt any three the remaining five questions.
3) Answer to sub-questions should be grouped together.

1. (a) Whatis flipflop? Explain working of JK flipflop (05)
(b) Simplify the following expression using K-maps (05)
F(A,B,C,D) =} (1,7,10,13,14)+d(0,5,8,15)

(c) Compare SRAM and DRAM (05)

(d) Explain principle and structure of cache memory (05)

2. (a) Explain bus interconnection structures. Explain bus arbitration? (10)

(b) Explain different addressing mode (10)

3. (a) Explain Programmed I/o, Interrupt /O and DMA (10)

- (b) Explain six stage instruction pipelining with suitable diagram (10)

4. (a) Explain superscalar organization and discuss the various (10)

superscalar instruction Issue Policies

(b) What is RAID? Explain any three levels of RAID (10)

5. (a) Explain the different organization of multicore processors (10)

. (b) List and explain the different addressing modes (10)
' 6. Write Short note on (any four) (20)

(a) Register Organization

(b) 1:4 Demultiplexer

(c) Flynn’s classification

(d) Micro programmed and Hard wired control
(e) RISC and CISC architectures
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1) Question No. 1 is compulsory.
2) Attempt any three questions from Q.2 to Q.6

Q.1 Write a Short Note on Following(any 4)
1. Current Trends in IT
2. Outsourcing
3. Technology Acquisition
4
5

. M- Commerce
. Business in Digital Economy

.’_’

Q.2 a) Explain a framework for the strategic use oﬂnfonnatxeﬁ'l‘echaolggy ‘f‘; o

b) Explain stepwise process to manage IT-i-ufti:maﬁ'b;iaLI};;' R bl 10
Q.3 a) Explain Roles of IT in E-commerce and M-commgrce'? g 10
b) Explain Need to acquire technology?- ol f R R P 10
Q.4 a) Define Data, Information and knowled'gé mthanexamp}e S 10
b) Explain the elements of IT hlfrastruc'_curg.vtjith; example. & 10
Q.5 a) What is Value Chain as per Michael Ppr'te’r_?,. W e 10
b) List the drawbacks of workplace monitoring, - o 10
Q.6 a) Eipléin E-governance with suitable example? - ° ' .10
b) How should managers introduce organizational-changes that employ 10
technology? A s
. %, i :
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N.B: (1) Question 1 is compulsory.

(2) Attempt any Three questions out of remaining Five questiuns Vi =

(3) Assume any additional data, if required , but Jusﬁfy the same
(4) Figures to the right indicate full marks for that quest;cm 2

(5) Use of Scientific calculator is allowed, >

Q.1) a) The Mean & standard deviation of 300 ltems af‘e found to be “50 and 20respectwelv
Itis found that at the time of the Ca|CU|at10l] twcz ﬁarns were. wronglv taken as 7 ancLSZ
‘ instead of 15 and 26,Find the correct mean a,nd Standarﬁ dewatlon , ‘, ) [5]=

b) The probability that a person stoppmg ata petrol* pump wni[ ask fbr petrohs 03 will ask
for water is 0.7 and for both 0.65 .Find the probabnhty that 3 person wﬂl ask for 1}e:ther

petrol or water u}ne:ther petral nor water ui)only petrol \“7‘__;-:;‘-‘__\',._ s [5]
¢) Calculate the model rnarks of the foilowmg T 2o :: ; .: & (5]
Marks 1030 ] 30%0 | 5090 7050 90-110 [ 110-130

No. ofstudents_.;{--:_ 4 soh S A& 12 TBUSE 6

d) Find the m#ssmg “que_wcy,of the follownng o g [5]
lfmode-:ts“sé" SOOI

Class 4 = "]1:25.-'1:30{‘1 ia@;iés‘“:;i $35-140 140-145 | 145-150
f'_'ﬁflteemcy e BARETERGN 08 ? 12 7

& St otherw:se

, a)Fmd the margmal ﬁensntaes of Xand Y.

f "b)Find the conditlanai denSIty function of Y given X=x.and conditional density function of X
‘._-'ﬂgwen‘f— PSS S [10]

g
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b) Compuie the inter quartile, semi-inter quartile range and coeﬁlclent ef qua : e‘dewattbn

from the following data. IR & 1) SR
Marks | 0-10 | 10-20 | 20-30 [ 30-40 | 40- 54& 50»60 70 | 7080 |
No.of 65 | 45 \ 120 \ 25 \'9 \ 8@
students R S S
Q.3) a) The age of husband and wives in seven couples,w'_et'féasf‘d‘lldwig;."'\ i e SR
Age of \45 44 {53 Xss 136 5
husband 7 B e ol
Age of wife 42 7R T .an 143

Find the Karl Pearson’s coefficient of correlatmn 'etwieen age of hﬂsbandand age gf wﬁe

b)i) AMan s equally likely to choose arwnne ef the toutes A,B,G Tsom hns hquse to :altway
station this choice of route A,B,C from his- hquse to rathﬂay stata@n and ttusthmce .o“f,mutes
is not affected by whether. If whether 1sﬁw the prdbabthtv of mrssmgt(amb w‘rg'.'n;ltt!s A,B,C

are

respectively 1/20, 1/10,1/5.He sets auton dry dav and missed the:cram
What is the probability that tram chosen Was C*’ _~ T S 151
ii) The probability mass functtan off : randomvanabie X is 1ero

Expect at the points )&%‘9,1 2 At these-points it has the values 588

P(0)=3¢?, P[1)-4c;&0t2 and P{Z}-Sc-l for some- ch - =

i)Determine thg vaitge o‘E c i ) Compute the P(),(<2) NS ) (5]
Q.4)a) Calcu‘fate mwtey’f; cegﬁrereht of skemiewfqr the foliowmg distribution. [10]
‘ Class- |50 | 40-15 -l 1520 Y 20:25 1) 25-30 [ 3035 | 35-40

Freqymcyf Pl i T 16 i 12 | 3

1:0 students ‘are gwen beiow
& _ gsaAe Sl
Cafrwevsavﬂmatf%h“e vananee of the normal dlstributlon from which the above sample

S '[ gn“’ftcance for 9 degree of freedom is 16. 99) [10}

onsecutively in arrangements of the letters
: (5]
‘i]fﬁonslder aﬁ expenmen‘t three coins are tossed”. Let the random variable
numbe,r of heads |
gty | Find thwah:es of X

bJ Finﬁ xhe p:obablhty of X
< ch{nQ thaprobabthty mass function d) Find the cumulative distribution function

[5]
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b) Find the Spearman’s rank correlation of the following data

MarksinD.M | 64 | 50 [ 44 42 156 | 65 | 59 sy
Marks in N
C.OA 80 | 60 |37 513075 44 <

Q.6)a) i)Find the probability of constructing two
1,2,3,4,5,6,7,8,9.

g If 1) Repetition of digits is allowed 2) Repetltlon Gf d{gits is not aHQWed :

-dlglt even nun'gber usmg;.thﬁ,ghglts s

w

ii)Find the coefficient of variation for the followmg drstrlbutldn

£, i

Age in years 20-25 | 2530 [ 30-35 | 35-40 | 4045 4550 |
No of policyholders 2 7 o B ot e & PLa Sf_

4 games and 2 games end in a tie.. Ram

b) i) Ram plays 12 game of chess wuth conmater and he wms 6 gameS"-"whde camputer wins
; : agam deadgs ta plav 3 games more. . -

Find the probability that-
i)Ram wins all three games
ii)Two games end- m a tre :

[51]

i) Calculate the mean,,med:aﬂ & mode for the fellowmg

[5]

g e

i)16,19,27,10, ,17~112;"i~5':‘.

ii)4,1,3,2,3; 3 3
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